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1. [3 pts] In the space provided, draw a simple sketch g+
showing the interaction between an aqueous calcium ion d-
and a water molecule. Represent charges accuratel 1t O/
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2. [2 pts each] Give theai:kotrr%g{oxldatl number for each requested atom.
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3. Complete each reaction and write the balanced net ionic equations in the boxes provided.

**a. [10 pts] ammonia (aq) + hydrofluoric acid (aq) — 77?

reminder: net ionic?

+ -
NH?)(&@ + HF@’Q —7 Muquq} + FC%D)

**h, [10 pts] mercury(II) perchlorate (aq) + potassium sulfide (aq) — 27?
H?(UOO.L + K—q} — U@S k ZKQ.QO«}

7_ + reminder: net ionic?

4. **(a) [5 pts] Balance the following redox reaction, occuring in aqueous solution. We’ll grade the answer in the
box. 2% = e~
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(work space:) 2 HNO, + QH*+ 2 ClIr — —N,O + __H,0 + 2. HCIO
: Ae” xL=de”
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(final answer:)

L HNO, + L H+ 2C — _ NO +_ HO0 + 2 HCIO

(b) [2 pts each] In the above reaction, what is:

the element oxidized? u the oxidizing agent? H MO
/__-a
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5. {26 pts] Clearly indicate whether each statement is TRUE or FALSE.

‘:Q.S*—/ *+H,O never appears in a net ionic equation.

T(‘L&?/ Strong acids are molecular compounds, but they dissociate completely in aqueous solutions.
False ‘&fﬂionic compounds are strong electrolytes. d%'*£3° lwlo e

True **In a redox reaction, the oxidant is reduced. +rue
| a0 ioms mdfﬁ&oda.l"-b(
F&. S2—~_ In a solution of Na,SO,, most of the Na,SO; moteeulEs remain intact; enty-a-small-fractiomaredissoctated-
" In a solution of Na,SO,, there are twice as many cations as anions. UQ-ZSO(* - ANa + &0 4
L weak orid
T(‘;& In a solution of HCIO, most of the molecules remain intact; only a small fraction are dissociated.
T The name of HCIO is hypochlorous acid. $om hafodALWhLb lown.
A
EQ‘QU HCIO is composed of H*, CI~ and O ions. MMUJM, and eren M&iiiou d'ea)ﬁ"”‘g 3 g‘é‘é_

TrUWL  **A [imiting reagent is used up completely during a reaction.

:@a.ku CO, is always a product in a combustion reaction. G%% M}M}' cowkaing C_
’_g QSQ/ Oxidation numbers must be integers. Cai- haxe Wum&a& \I"Q"‘-f-—g
Eo&% Thepﬁdﬁ:t that is produced in the smallest amount is the limiting reactant. R eandamnk used “-f s‘?‘ rst

**6, [6 pts] Circle the compounds below that are soluble in water.

@ AIOH),  CaCs0, @ .
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2 compe
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#%7.[5 pts] SN, + 4Ag0 — 4AgS + 4NO7 100 . |
The equation above is balanced. The reaction is conducted beginning W‘ﬁl§6?’ g S,N, (molar mass 184.3 g) and

69.23 g AgO (molar mass 123.9 g). How many grams of NO can be made? SHOW YOUR WORK below and
write your answer in the space provided.-
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